


giraffe        monkey         crocodile        hippo

elephant         snake             tiger



Listen and point:Model: 
There are two monkeys.



Look and say:



feet

arms hands

tail

legs

The monkey 
has got
2 arms, 
2 hands, 
2 legs, 

2 feet and 
a tail.



legs

tail
The tiger has 

got
4 legs, 
 and 

a tail.



neck

The giraffe 
has got

a long neck.



tail

head

The snake 
has got

a head and
a tail.



teeth

1 tooth
The hippo

has got
4 teeth.



hands      arms          legs          tail

Model: The giraffe has got 4 legs and a tail.



The tiger has got 4 
legs and a tail.

The tiger has got 2 
legs and a tail.

Choose:



The elephant has got 
2 ears and 2 legs.

The elephant has 
got 2 ears and 4 legs.



The giraffe has got ___ legs, a long 
_____ and ____ head .

Finish the sentence:

The giraffe has got _4_ legs, a long 
_neck and _a__ head .



The snake has got a ____ and a ____.

Finish the sentence:

head             tail



The crocodile has got a ____, __ legs 
and a ____.

Finish the sentence:

head   4
tail




